The Unit Ball of $\mathcal{L}_s(^2l_\infty^2)$

SUNG GUEN KIM

Department of Mathematics, Kyungpook National University Daegu 702-701, South Korea, sgk317@knu.ac.kr

Presented by Jesús M.F. Castillo

Received September 24, 2008

Abstract: We classify the extreme, exposed and smooth points of the unit ball of the space of symmetric bilinear forms on the 2-dimensional real spaces l_{∞}^2 .

Key words: Symmetric bilinear forms, extreme points, exposed points, smooth points. AMS *Subject Class.* (2000): 46A22.

1. INTRODUCTION

We write B_E for the closed unit ball of a real Banach space E and the dual space of E is denoted by E^* ; $x \in B_E$ is called an extreme point of B_E if $y, z \in$ B_E with $x = \frac{1}{2}(y+z)$ implies x = y = z; $x \in B_E$ is called an exposed point of B_E if there is a $f \in E^*$ so that f(x) = 1 = ||f|| and f(y) < 1 for every $y \in B_E \setminus$ $\{x\}; x \in B_E$ is called a smooth point of B_E if there is a unique $f \in E^*$ so that f(x) = 1 = ||f||. It is easy to see that every exposed point of B_E is an extreme point. We denote by $\exp B_E$, $\exp B_E$ and $\sin B_E$ the sets of exposed, extreme and smooth points of B_E , respectively. We recall that a bilinear function $L: E \times E \to \mathbb{R}$ is a symmetric bilinear form if L(x,y) = L(y,x) for every $x, y \in E$. We denote by $\mathcal{L}_{s}(^{2}E)$ the Banach space of all symmetric bilinear forms from E into \mathbb{R} endowed with the norm $||L|| = \sup_{||x||=||y||=1} |L(x,y)|$. A mapping $P: E \to \mathbb{R}$ is a continuous 2-homogeneous polynomial if there exists a unique continuous symmetric bilinear form L on the product $E \times E$ such that P(x) = L(x, x) for every $x \in E$. We denote by $\mathcal{P}(^{2}E)$ the Banach space of all continuous 2-homogeneous polynomials from E into \mathbb{R} endowed with the norm $||P|| = \sup_{||x||=1} |P(x)|$. For more details on polynomials and symmetric bilinear maps, see [6]. It is well-known that there is an isomorphism between $\mathcal{L}_s(^2E)$ and $\mathcal{P}(^2E)$. If E is a (real or complex) Hilbert space, then there is an isometric isomorphism between $\mathcal{L}_s(^2E)$ and $\mathcal{P}(^2E)$ via $L \to \hat{L}$, where $\hat{L}(x) = L(x,x)$ for every $x \in E$. Thus L is an extreme (exposed, smooth, respectively) point in the unit ball of $\mathcal{L}_s(^2E)$ if and only if \hat{L} is an

17

extreme (exposed, smooth, respectively) point in the unit ball of $\mathcal{P}(^2E)$. Some work has been done in analyzing the geometry of spaces of polynomials on real Banach spaces ([1]-[5], [7]-[10]). Note that there is no isometry between $\mathcal{L}_s(^2l_{\infty}^2)$ and $\mathcal{P}(^2l_{\infty}^2)$. Thus it is natural to consider the problem of analyzing the geometry of spaces of symmetric bilinear forms on real Banach spaces. In this paper, we classify the extreme, exposed and smooth points of the unit ball of the space $\mathcal{L}_s(^2l_{\infty}^2)$.

2. The results

THEOREM 1. Let $L \in \mathcal{L}_s({}^2l_\infty^2)$ with $L((x_1, x_2), (y_1, y_2)) = ax_1y_1 + bx_2y_2 + c(x_1y_2 + x_2y_1)$ for $(x_1, x_2), (y_1, y_2) \in l_\infty^2$. Then we have

$$||L|| = \max\{|a+b|+2|c|, |a-b|\}.$$

Proof. By symmetric bilinearity of L, we have

$$\begin{split} \|L\| &= \max\left\{ \max_{|x| \le 1, |y| \le 1} \left| L\big((1, x), (1, y)\big) \right|, \ \max_{|x| \le 1, |y| \le 1} \left| L\big((1, x), (y, 1)\big) \right|, \\ & \max_{|x| \le 1, |y| \le 1} \left| L\big((x, 1), (y, 1)\big) \right| \right\}. \end{split}$$

It follows that

$$\begin{aligned} \max_{|x| \le 1, |y| \le 1} \left| L\big((1, x), (1, y)\big) \right| \\ &= \max\left\{ \max_{|y| \le 1} \left| L\big((1, \pm 1), (1, y)\big) \right|, \max_{|x| \le 1} \left| L\big((1, x), (1, \pm 1)\big) \right| \right\} \\ &= \max\left\{ |a - b|, \ |a + b| + 2|c| \right\}. \end{aligned}$$

Similarly,

$$\begin{split} \max_{|x| \le 1, |y| \le 1} \left| L\big((1, x), (y, 1)\big) \right| &= \max_{|x| \le 1, |y| \le 1} \left| L\big((x, 1), (y, 1)\big) \right| \\ &= \max\left\{ |a - b|, \ |a + b| + 2|c| \right\}, \end{split}$$

which completes the proof. \blacksquare

THEOREM 2. We have

$$\operatorname{ext} B_{\mathcal{L}_s(^2 l_\infty^2)} = \left\{ \pm x_1 y_1, \pm x_2 y_2, \pm \frac{1}{2} \left[x_1 y_1 - x_2 y_2 \pm (x_1 y_2 + x_2 y_1) \right] \right\}$$

Proof. Let $L \in S_{\mathcal{L}_s(^2l_{\infty}^2)}$ with $L((x_1, x_2), (y_1, y_2)) = ax_1y_1 + bx_2y_2 + c(x_1y_2 + x_2y_1)$ for $(x_1, x_2), (y_1, y_2) \in l_{\infty}^2$. By Theorem 1, we have $|a| \leq 1$, $|b| \leq 1, |c| \leq \frac{1}{2}$.

Claim 1: If c = 0 and $L \in \text{ext} B_{\mathcal{L}_s(^2 l_{\infty}^2)}$ then $L((x_1, x_2), (y_1, y_2)) = \pm x_1 y_1$ or $\pm x_2 y_2$.

Otherwise $ab \neq 0$. Put

$$A((x_1, x_2), (y_1, y_2)) := (a + \operatorname{sign}(a)\epsilon_0)x_1y_1 + (b - \operatorname{sign}(b)\epsilon_0)x_2y_2,$$

$$B((x_1, x_2), (y_1, y_2)) := (a - \operatorname{sign}(a)\epsilon_0)x_1y_1 + (b + \operatorname{sign}(b)\epsilon_0)x_2y_2.$$

Clearly, we have $A, B \in S_{\mathcal{L}_s(^2l_\infty^2)}$ and $L = \frac{1}{2}(A+B)$, which is a contradiction of the hypothesis that $L \in \text{ext}B_{\mathcal{L}_s(^2l_\infty^2)}$. Thus a = 0 or b = 0, which shows the claim 1.

Claim 2: If $|c| = \frac{1}{2}$, then

$$L((x_1, x_2), (y_1, y_2)) = \pm \frac{1}{2} \left[x_1 y_1 - x_2 y_2 \pm (x_1 y_2 + x_2 y_1) \right]$$

and $L \in \operatorname{ext} B_{\mathcal{L}_s(2l_\infty^2)}$.

By Theorem 1, we have b = -a, $|a| = \frac{1}{2}$. For simplicity, we may assume that $a = c = \frac{1}{2}$, $b = -\frac{1}{2}$. Suppose that $L = \frac{1}{2}(A+B)$ for some $A, B \in S_{\mathcal{L}_s(^2l_{\infty}^2)}$. We may write

$$A((x_1, x_2), (y_1, y_2)) := \alpha x_1 y_1 + \beta x_2 y_2 + \gamma (x_1 y_2 + x_2 y_1),$$

$$B((x_1, x_2), (y_1, y_2)) := \alpha' x_1 y_1 + \beta' x_2 y_2 + \gamma' (x_1 y_2 + x_2 y_1),$$

for some $\alpha, \alpha', \beta, \beta', \gamma, \gamma' \in \mathbb{R}$. Since $\frac{1}{2}(\gamma + \gamma') = \frac{1}{2}$, $|\gamma| \leq \frac{1}{2}$ and $|\gamma'| \leq \frac{1}{2}$, we have $\gamma = \gamma' = \frac{1}{2}$. By Theorem 1, we have $\beta = -\alpha$, $\beta' = -\alpha'$, $\frac{1}{2}(\alpha + \alpha') = \frac{1}{2}$. Since $|\alpha| \leq \frac{1}{2}$ and $|\alpha'| \leq \frac{1}{2}$, we have $\alpha = \frac{1}{2} = \alpha'$, which show A = B = L, so $L \in \operatorname{ext} B_{\mathcal{L}_s(2l_\infty^2)}$. Thus we may that $0 < |c| < \frac{1}{2}$.

Claim 3: If |a+b|+2|c| < 1, then $L \notin \text{ext}B_{\mathcal{L}_s(^2l_\infty^2)}$ Indeed, put

$$A((x_1, x_2), (y_1, y_2)) := ax_1y_1 + bx_2y_2 + (c + \epsilon_0)(x_1y_2 + x_2y_1),$$

$$B((x_1, x_2), (y_1, y_2)) := ax_1y_1 + bx_2y_2 + (c - \epsilon_0)(x_1y_2 + x_2y_1),$$

where

$$\epsilon_0 := \min\left\{ |c|, \frac{1 - (|a+b| + 2|c|)}{2} \right\} > 0.$$

By Theorem 1, we have $A, B \in S_{\mathcal{L}_s(2l_{\infty}^2)}, A \neq L, L = \frac{1}{2}(A+B)$, so $L \notin ext B_{\mathcal{L}_s(2l_{\infty}^2)}$. Suppose that |a+b|+2|c|=1.

Claim 4: If |a - b| < 1, then $L \notin \operatorname{ext} B_{\mathcal{L}_s({}^2l_{\infty}^2)}$. Indeed, put

$$A((x_1, x_2), (y_1, y_2)) := (a + \epsilon_0)x_1y_1 + (b - \epsilon_0)x_2y_2 + c(x_1y_2 + x_2y_1),$$

$$B((x_1, x_2), (y_1, y_2)) := (a - \epsilon_0)x_1y_1 + (b + \epsilon_0)x_2y_2 + c(x_1y_2 + x_2y_1),$$

where

$$\epsilon_0 := \frac{1 - |a - b|}{2} > 0.$$

By Theorem 1, we have $A, B \in S_{\mathcal{L}_s(^2l_{\infty}^2)}, A \neq L, L = \frac{1}{2}(A+B)$, so $L \notin ext B_{\mathcal{L}_s(^2l_{\infty}^2)}$.

For simplicity, we may assume that a > 0. Claim 5: If |a - b| = 1, then

$$L((x_1, x_2), (y_1, y_2)) = ax_1y_1 + (-1 + a)x_2y_2 + (1 - a)(x_1y_2 + x_2y_1)$$

for $\frac{1}{2} < a < 1$ and $L \notin \operatorname{ext} B_{\mathcal{L}_s(^2 l_\infty^2)}$.

By Theorem 1, we have

$$L((x_1, x_2), (y_1, y_2)) = ax_1y_1 + (-1 + a)x_2y_2 + (1 - a)(x_1y_2 + x_2y_1)$$

for $\frac{1}{2} < a < 1$. Put

$$\begin{aligned} A\big((x_1, x_2), (y_1, y_2)\big) &:= (a + \epsilon_0)x_1y_1 + (-1 + a + \epsilon_0)x_2y_2 \\ &+ (1 - a - \epsilon_0)(x_1y_2 + x_2y_1) \,, \\ B\big((x_1, x_2), (y_1, y_2)\big) &:= (a - \epsilon_0)x_1y_1 + (-1 + a - \epsilon_0)x_2y_2 \\ &+ (1 - a + \epsilon_0)(x_1y_2 + x_2y_1) \,, \end{aligned}$$

where

$$\epsilon_0 := \min\left\{1-a, \ a-\frac{1}{2}\right\} > 0.$$

By Theorem 1, we have $A, B \in S_{\mathcal{L}_s(2l_{\infty}^2)}, A \neq L, L = \frac{1}{2}(A+B)$, so $L \notin ext B_{\mathcal{L}_s(2l_{\infty}^2)}$. Therefore we complete the proof.

Remark. We note that $\operatorname{ext} B_{\mathcal{L}_s(^2l_\infty^2)} \subset \operatorname{ext} B_{\mathcal{L}_s(^2l_\infty)}$.

20

Indeed, by Theorem 2, it's enough to show that x_1y_1 and $\frac{1}{2}x_1y_1 - \frac{1}{2}x_2y_2 + \frac{1}{2}(x_1y_2 + x_2y_1)$ are extreme points of $B_{\mathcal{L}_s(^2l_\infty)}$.

Claim 1: $L := x_1 y_1$ is an extreme point of $B_{\mathcal{L}_s(^2 l_\infty)}$.

Suppose that $L = \frac{1}{2}(A+B)$ for some $A, B \in S_{\mathcal{L}_s(2l_{\infty})}$. We may write

$$A((x_n), (y_n)) := \sum_{j=1}^{\infty} a_{jj} x_j y_j + \sum_{1 \le k < s} a_{ks} (x_k y_s + x_s y_k),$$
$$B((x_n), (y_n)) := \sum_{j=1}^{\infty} b_{jj} x_j y_j + \sum_{1 \le k < s} b_{ks} (x_k y_s + x_s y_k).$$

It suffices to show that $a_{11} = 1$ and $a_{jj} = a_{ks} = 0$ for every $j > 1, 1 \le k < s$. Since $1 = L(e_1, e_1) = \frac{1}{2}(a_{11} + b_{11}), |a_{11}| \le 1, |b_{11}| \le 1$, we have $a_{11} = 1 = b_{11}$. Let j > 1 be fixed. Note that

$$1 \ge |A(x_1e_1 + x_je_j, y_1e_1 + y_je_j)| = |x_1y_1 + a_{jj}x_jy_j + a_{1j}(x_1y_j + x_jy_1)|$$

for every $x_1e_1 + x_je_j$, $y_1e_1 + y_je_j \in B_{l_{\infty}}$. By Theorem 1, we have $a_{jj} = 0 = a_{1j}$. Suppose that $2 \le k < s$. Since

$$1 \ge |A(e_1 + e_k + e_s, e_1 \pm e_k \pm e_s)| = |1 \pm 2a_{ks}|,$$

we have $a_{ks} = 0$.

Claim 2: $L := \frac{1}{2}x_1y_1 - \frac{1}{2}x_2y_2 + \frac{1}{2}(x_1y_2 + x_2y_1)$ is an extreme point of $B_{\mathcal{L}_s(^{2}l_{\infty})}$.

Suppose that $L = \frac{1}{2}(A+B)$ for some $A, B \in S_{\mathcal{L}_s(2l_{\infty})}$. We may write

$$A((x_n), (y_n)) := \sum_{j=1}^{\infty} a_{jj} x_j y_j + \sum_{1 \le k < s} a_{ks} (x_k y_s + x_s y_k),$$
$$B((x_n), (y_n)) := \sum_{j=1}^{\infty} b_{jj} x_j y_j + \sum_{1 \le k < s} b_{ks} (x_k y_s + x_s y_k).$$

Since $L \in \operatorname{ext} B_{\mathcal{L}_s(^2l_{\infty}^2)}$, we have $a_{11} = a_{12} = \frac{1}{2}$, $a_{22} = -\frac{1}{2}$. It suffices to that $a_{jj} = 0 = a_{1j} = a_{2j}$ for every $j \geq 3$. Let $j \geq 3$ be fixed. Since $1 \geq |A(e_1 + e_2, e_1 + e_2 \pm e_j)| = |1 \pm (a_{1j} + a_{2j})|$, we have $a_{1j} + a_{2j} = 0$. Since $1 \geq |A(e_1 + e_2 + e_j, e_1 + e_2 \pm e_j)| = |1 \pm a_{jj}|$, we have $a_{jj} = 0$. Since $1 \geq |A(e_1 + e_2 + e_j, e_1 - e_2 \pm e_j)| = |1 \pm 2a_{1j}|$, we have $a_{1j} = 0$, so $a_{2j} = 0$. THEOREM 3. $\exp B_{\mathcal{L}_s(^2l_\infty^2)} = \exp B_{\mathcal{L}_s(^2l_\infty^2)}$.

Proof. It suffices to show that every extreme point of $B_{\mathcal{L}_s(^2l_{\infty}^2)}$ is an exposed point. Note that $\{x_1y_1, x_2y_2, x_1y_2 + x_2y_1\}$ is a basis for $\mathcal{L}_s(^2l_{\infty}^2)$.

 $\begin{array}{ll} \text{Claim 1: } \pm x_1y_1, \pm x_2y_2 \in \exp B_{\mathcal{L}_s(^2l_\infty^2)}.\\ \text{Let } f \in \mathcal{L}_s(^2l_\infty^2)^* \text{ be such that} \end{array}$

$$f(x_1y_1) = 1$$
, $f(x_2y_2) = 0 = f(x_1y_2 + x_2y_1)$

By Theorem 1, we have $||f|| = 1 = f(x_1y_1)$. It is easy to show that f exposes x_1y_1 .

Claim 2: $\pm \frac{1}{2} \left[x_1 y_1 - x_2 y_2 \pm (x_1 y_2 + x_2 y_1) \right] \in \exp B_{\mathcal{L}_s(^2 l_\infty^2)}.$ Let $f \in \mathcal{L}_s(^2 l_\infty^2)^*$ be such that

$$f(x_1y_1) = \frac{2}{3} = f(x_1y_2 + x_2y_1), \qquad f(x_2y_2) = -\frac{2}{3}$$

Clearly $f(\frac{1}{2}x_1y_1 - \frac{1}{2}x_2y_2 + \frac{1}{2}(x_1y_2 + x_2y_1)) = 1$. We will show that ||f|| = 1 and f exposes x_1y_1 . By Theorem 1, it follows that

$$\|f\| = \sup \left\{ |f(ax_1y_1 + bx_2y_2 + c(x_1y_2 + x_2y_1))| : \\ ax_1y_1 + bx_2y_2 + c(x_1y_2 + x_2y_1) \in B_{\mathcal{L}_s(^2l_{\infty}^2)} \right\}$$

$$\leq \frac{2}{3} \sup \left\{ |a - b| + |c| : \qquad (*) \\ ax_1y_1 + bx_2y_2 + c(x_1y_2 + x_2y_1) \in B_{\mathcal{L}_s(^2l_{\infty}^2)} \right\}$$

$$\leq \frac{2}{3} \left(1 + \frac{1}{2} \right) = 1.$$

Suppose that $f(ax_1y_1 + bx_2y_2 + c(x_1y_2 + x_2y_1)) = 1$ for some $ax_1y_1 + bx_2y_2 + c(x_1y_2 + x_2y_1) \in B_{\mathcal{L}_s(^2l_{\infty}^2)}$. By the argument in (*), we have |a-b| = 1, $|c| = \frac{1}{2}$. By Theorem 1, we have |a+b| = 0, so $a = \frac{1}{2}$, $b = -\frac{1}{2}$, $c = \frac{1}{2}$. We complete the proof.

THEOREM 4. Let $f \in \mathcal{L}_s({}^2l_\infty^2)^*$. Then we have

$$||f|| = \max\left\{ |\alpha|, |\beta|, \frac{1}{2}(|\alpha - \beta| + |\gamma|) \right\},\$$

where $\alpha = f(x_1y_1), \beta = f(x_2y_2), \gamma = f(x_1y_2 + x_2y_1).$

Proof. By Theorem 2, we have

$$\|f\| = \max\left\{ |f(L)| : L \in \operatorname{ext} B_{\mathcal{L}_{s}(^{2}l_{\infty}^{2})} \right\}$$

= $\max\left\{ |f(x_{1}y_{1})|, |f(x_{2}y_{2})|, \left| f\left(\frac{1}{2}x_{1}y_{1} - \frac{1}{2}x_{2}y_{2} \pm \frac{1}{2}(x_{1}y_{2} + x_{2}y_{1})\right) \right| \right\}$
= $\max\left\{ |\alpha|, |\beta|, \frac{1}{2}(|\alpha - \beta| + |\gamma|) \right\}.$

THEOREM 5. We have

$$\begin{split} & \operatorname{sm} B_{\mathcal{L}_{s}(^{2}l_{\infty}^{2})} = \\ & \left\{ \pm \left[ax_{1}y_{1} + (a-1)x_{2}y_{2} \right] \left(0 < a < 1 \right), \\ & \pm \left[ax_{1}y_{1} + bx_{2}y_{2} + \frac{1 - (a+b)}{2}(x_{1}y_{2} + x_{2}y_{1}) \right] \ (a > 0, b > 0, a+b < 1), \\ & \pm \left[ax_{1}y_{1} + (a-1)x_{2}y_{2} + c(x_{1}y_{2} + x_{2}y_{1}) \right] \ (|2a-1| + 2|c| < 1, \ c \neq 0) \right\}. \end{split}$$

Proof. Claim 1: $\pm [ax_1y_1 + (a-1)x_2y_2] \in \operatorname{sm} B_{\mathcal{L}_s(^2l_\infty^2)} (0 < a < 1).$

Let $L := ax_1y_1 + (a-1)x_2y_2$ (0 < a < 1) and $f \in \mathcal{L}_s({}^{2}l_{\infty}^2)^*$ satisfying f(L) = 1 = ||f||. Let $\alpha = f(x_1y_1), \beta = f(x_2y_2), \gamma = f(x_1y_2 + x_2y_1)$. It follows that

$$1 = f(L) = a\alpha + (a-1)\beta \le a|\alpha| + (1-a)|\beta| \le a + (1-a) = 1,$$

so $\alpha = 1, \beta = -1$. Since

$$1 = \|f\| = \max\left\{1, \frac{1}{2}(2+|\gamma|)\right\} \ge \frac{1}{2}(2+|\gamma|),$$

so $\gamma = 0$. Thus f is uniquely determined.

Claim 2: $\pm [ax_1y_1 + (1-a)x_2y_2] \notin \operatorname{sm} B_{\mathcal{L}_s(^{2}l_{\infty}^2)} \ (0 \le a \le 1).$ It follows that if we choose $f, g \in \mathcal{L}_s(^{2}l_{\infty}^2)^*$ satisfying $f(x_1y_1) = 1 = f(x_2y_2), f(x_1y_2 + x_2y_1) = 0$ and $g(x_1y_1) = 1 = g(x_2y_2) = g(x_1y_2 + x_2y_1).$ Claim 3: $L := \pm \left[ax_1y_1 + bx_2y_2 \pm \frac{1-(a+b)}{2}(x_1y_2 + x_2y_1)\right] \in \operatorname{sm} B_{\mathcal{L}_s(^{2}l_{\infty}^2)}$

$$(a > 0, b > 0, a + b < 1).$$

Let $L := ax_1y_1 + bx_2y_2 \pm \frac{1-(a+b)}{2}(x_1y_2 + x_2y_1)$ and $f \in \mathcal{L}_s(^2l_\infty^2)^*$ satisfying f(L) = 1 = ||f||. Let $\alpha = f(x_1y_1), \ \beta = f(x_2y_2), \ \gamma = f(x_1y_2 + x_2y_1)$. It follows that

$$\begin{split} 1 &= f(L) = a\alpha + b\beta \pm \frac{1 - (a + b)}{2} \gamma \\ &\leq a |\alpha| + b |\beta| + \frac{1 - (a + b)}{2} |\gamma| \\ &\leq (a + b) + 2 \frac{1 - (a + b)}{2} = 1 \,, \end{split}$$

so $\alpha = 1 = \beta$, $\gamma = \pm 2$. Thus f is uniquely determined.

Claim 4: $\pm [ax_1y_1 + (a-1)x_2y_2 + c(x_1y_2 + x_2y_1)] \notin \operatorname{sm} B_{\mathcal{L}_s(^2l_{\infty}^2)} (|2a-1| + 2|c| = 1).$

Clearly ab < 0. We may assume that a > 0, b < 0, c > 0. If $a + b \ge 0$, the claim follows that if we choose $f, g \in \mathcal{L}_s({}^2l_{\infty}^2)^*$ satisfying $f(x_1y_1) = 1$, $f(x_2y_2) = -1$, $f(x_1y_2 + x_2y_1) = 0$ and $g(x_1y_1) = 1 = g(x_2y_2)$, $g(x_1y_2 + x_2y_1) = 2$. If a + b < 0, the claim follows that if we choose $f, g \in \mathcal{L}_s({}^2l_{\infty}^2)^*$ satisfying $f(x_1y_1) = 1$, $f(x_2y_2) = -1$, $f(x_1y_2 + x_2y_1) = 0$ and $g(x_1y_1) = -1 = g(x_2y_2)$, $g(x_1y_2 + x_2y_1) = 2$.

Claim 5: $\pm [ax_1y_1 + (a-1)x_2y_2 + c(x_1y_2 + x_2y_1)] \in \operatorname{sm} B_{\mathcal{L}_s(^2l_{\infty}^2)} (|2a-1| + 2|c| < 1, c \neq 0).$

Let $L := ax_1y_1 + (a-1)x_2y_2 + c(x_1y_2 + x_2y_1)$ for 0 < a < 1, |2a-1|+2|c| < 1and $f \in \mathcal{L}_s(^2l_\infty^2)^*$ satisfying f(L) = 1 = ||f||. Let $\alpha = f(x_1y_1)$, $\beta = f(x_2y_2)$, $\gamma = f(x_1y_2 + x_2y_1)$. We will show that $\alpha = 1$, $\beta = -1$, $\gamma = 0$. We may assume that $\gamma \neq 0$. Then we will get a contradiction.

Case 1: $0 < a \le \frac{1}{2}$.

Note that |c| < a. First, we claim that $\beta < 0$. Otherwise. Assume that $\beta > 0$. It follows that

$$\begin{split} 1 &= f(L) = a\alpha + (a-1)\beta + c\gamma \leq a|\alpha| + (a-1)|\beta| + |c||\gamma| \\ &< a|\alpha| + (a-1)|\beta| + a|\gamma| \quad (\text{because } |c| < a, \ \gamma \neq 0) \\ &\leq a\Big(|\alpha| + \Big(1 - \frac{1}{a}\Big)|\beta| + |\gamma|\Big) \\ &\leq a(|\alpha| - |\beta| + |\gamma|) \quad (\text{because } 1 - \frac{1}{a} \leq -1) \\ &\leq a(|\alpha - \beta| + |\gamma|) \\ &\leq 2a \quad (\text{by Theorem 4}) \\ &\leq 1 \,, \end{split}$$

which is a contradiction. Thus $\beta \leq 0$. If $\beta = 0$, it follows that

$$1 = f(L) = a\alpha + c\gamma$$

$$\leq a|\alpha| + |c||\gamma|$$

$$< a|\alpha| + a|\gamma| \quad (\text{because } |c| < a, \ \gamma \neq 0)$$

$$= a(|\alpha - \beta| + |\gamma|)$$

$$\leq 2a \quad (\text{by Theorem 4})$$

$$\leq 1,$$

which is a contradiction. Thus $\beta < 0$. We claim that $\alpha > 0$. Otherwise. Assume that $\alpha < 0$. If $|\alpha| \ge |\beta|$, it follows that

which is a contradiction. Thus $\alpha \geq 0$. If $\alpha < 0$ and $|\alpha| \leq |\beta|$, it follows that

which is a contradiction. Thus $\alpha \ge 0$. If $\alpha = 0$, it follows that

$$\begin{split} 1 &= f(L) = (a-1)\beta + c\gamma \\ &\leq (1-a)|\beta| + |c||\gamma| \\ &< (1-a)|\beta| + a|\gamma| \quad (\text{because } |c| < a, \ \gamma \neq 0) \\ &\leq (1-a)|\beta| + a(2-|\beta|) \quad (\text{because } |\alpha - \beta| + |\gamma| = |\beta| + |\gamma| \leq 2) \\ &\leq 2a + (1-2a)|\beta| \\ &\leq 1 \,, \end{split}$$

which is a contradiction. Thus $\alpha > 0$. By Theorem 4,

$$||f|| = 1 = \frac{1}{2} (|\alpha - \beta| + |\gamma|) = \frac{1}{2} (|\alpha| + |\beta| + |\gamma|).$$

It follows that

$$\begin{split} 1 &= f(L) = a\alpha + (a-1)\beta + c\gamma \\ &\leq a|\alpha| + (1-a)|\beta| + |c||\gamma| \\ &< a|\alpha| + (1-a)|\beta| + a|\gamma| \quad (\text{because } |c| < a, \ \gamma \neq 0) \\ &= a|\alpha| + (1-a)|\beta| + a(2 - |\alpha| - |\beta|) \quad (\text{because } |\alpha| + |\beta| + |\gamma| = 2) \\ &\leq 2a + (1 - 2a)|\beta| \\ &\leq 1 \,, \end{split}$$

which is a contradiction. Thus $\gamma = 0$. It follows that

$$1 = f(L) = a\alpha + (a-1)\beta \le a|\alpha| + (1-a)|\beta| \le 1,$$

which implies that $\alpha = 1, \beta = -1$, which complete the proof of Case 1.

Case 2: $\frac{1}{2} < a < 1$.

Note that |c|<1-a. First, we claim that $\beta<0.$ Otherwise. Assume that $\beta>0.$ It follows that

$$\begin{split} 1 &= f(L) = a\alpha + (a-1)\beta + c\gamma \\ &\leq a|\alpha| - (1-a)|\beta| + |c||\gamma| \\ &< a|\alpha| - (1-a)|\beta| + (1-a)|\gamma| \quad (\text{because } |c| < 1-a, \ \gamma \neq 0) \end{split}$$

The unit ball of $\mathcal{L}_s(^2l_\infty^2)$

$$\begin{split} &\leq a |\alpha| - (1-a)|\beta| + (1-a)(2-|\alpha-\beta|) \\ &\leq a |\alpha| - (1-a)(|\beta| - 2 + |\alpha-\beta|) \\ &\leq a |\alpha| - (1-a)(|\beta| - 2 + |\alpha| - |\beta|) \\ &= a |\alpha| - (1-a)(-2 + |\alpha|) \\ &= a |\alpha| + 2(1-a)(-2 + |\alpha|) \\ &= a |\alpha| + 2(1-a) - (1-a)|\alpha| \\ &= (2a-1)|\alpha| + 2(1-a) \\ &\leq (2a-1) + 2(1-a) \\ &= 1 \,, \end{split}$$

which is a contradiction. Thus $\beta \leq 0$. If $\beta = 0$, it follows that

$$\begin{split} 1 &= f(L) = a\alpha + c\gamma \\ &\leq a |\alpha| + |c||\gamma| \\ &< a |\alpha| + (1-a)|\gamma| \quad (\text{because } |c| < 1-a, \ \gamma \neq 0) \\ &= (2a-1)|\alpha| + (1-a)(|\alpha| + |\gamma|) \\ &= (2a-1)|\alpha| + 2(1-a) \\ &\leq 1 \,, \end{split}$$

which is a contradiction. Thus $\beta < 0$. We claim that $\alpha > 0$. Otherwise. Assume that $\alpha < 0$. If $|\alpha| \ge |\beta|$, it follows that

which is a contradiction. Thus $\alpha \geq 0$. If $\alpha < 0$ and $|\alpha| \leq |\beta|$, it follows that

which is a contradiction. Thus $\alpha \ge 0$. If $\alpha = 0$, it follows that

$$\begin{split} 1 &= f(L) = (a-1)\beta + c\gamma \\ &\leq (1-a)|\beta| + |c||\gamma| \\ &< (1-a)|\beta| + (1-a)|\gamma| \quad (\text{because } |c| < 1-a, \ \gamma \neq 0) \\ &\leq (1-a)(|\beta| + |\gamma|) \\ &= (1-a)(|\alpha - \beta| + |\gamma|) \\ &\leq 2(1-a) \\ &\leq 1, \end{split}$$

which is a contradiction. Thus $\alpha > 0$. By Theorem 4,

$$||f|| = 1 = \frac{1}{2} (|\alpha - \beta| + |\gamma|) = \frac{1}{2} (|\alpha| + |\beta| + |\gamma|).$$

It follows that

$$\begin{split} 1 &= f(L) = a\alpha + (a-1)\beta + c\gamma \\ &\leq a|\alpha| + (1-a)|\beta| + |c||\gamma| \\ &< a|\alpha| + (1-a)|\beta| + (1-a)|\gamma| \quad (\text{because } |c| < 1-a, \ \gamma \neq 0) \\ &= (1-a)(|\alpha| + |\beta| + |\gamma|) + (2a-1)|\alpha| \\ &= (1-a)(|\alpha - \beta| + |\gamma|) + (2a-1)|\alpha| \\ &\leq 2(1-a) + (2a-1)|\alpha| \\ &\leq 1, \end{split}$$

which is a contradiction. Thus $\gamma = 0$. It follows that

$$1 = f(L) = a\alpha + (a-1)\beta \le a|\alpha| + (1-a)|\beta| \le 1,$$

which implies that $\alpha = 1$, $\beta = -1$, which complete the proof of Case 2. Therefore, we complete the proof.

Acknowledgements

The author would like to thank the referee for his/her kind comments.

References

- Y.S. CHOI, H. KI, S.G. KIM, Extreme polynomials and multilinear forms on l₁, J. Math. Anal. Appl. 228 (1998), 467–482.
- Y.S. CHOI, S.G. KIM, The unit ball of \$\mathcal{P}(^2l_2^2)\$, Arch. Math. (Basel) 71 (1998), 472-480.
- [3] Y.S. CHOI, S.G. KIM, Extreme polynomials on c₀, Indian J. Pure Appl. Math. 29 (1998), 983–989.
- [4] Y.S. CHOI, S.G. KIM, Smooth points of the unit ball of the space $\mathcal{P}(^{2}l_{1})$, *Results Math.* **36** (1999), 26–33.
- [5] Y.S. CHOI, S.G. KIM, Exposed points of the unit balls of the spaces $\mathcal{P}(^{2}l_{p}^{2}) \ (p = 1, 2, \infty), Indian J. Pure Appl. Math. 35 (2004), 37-41.$
- [6] S. DINEEN, "Complex Analysis on Infinite-Dimensional Spaces", Springer Monographs in Mathematics, Springer-Verlag London, Ltd., London, 1999.
- [7] B.C. GRECU, Geometry of 2-homogeneous polynomials on l_p spaces, 1 , J. Math. Anal. Appl.**273**(2002), 262–282.
- [8] S.G. KIM, Exposed 2-homogeneous polynomials on $\mathcal{P}(^{2}l_{p}^{2})$ for $1 \leq p \leq \infty$, Math. Proc. R. Ir. Acad. **107** (2007), 123–129.
- [9] S.G. KIM, S.H. LEE, Exposed 2-homogeneous polynomials on Hilbert spaces, Proc. Amer. Math. Soc. 131 (2003), 449-453.
- [10] R.A. RYAN, B. TURETT, Geometry of spaces of polynomials, J. Math. Anal. Appl. 221 (1998), 698-711.